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Answer all four questions
1 A country can use one of the economic systems to allocate its scarce resources. In a market
system there is freedom of association, hence workers can be members of trade unions.
Moreover, a country’s production capacity constantly changes and this can be illustrated by
shifts in a Production Possibility Curve (PPC).

(a) State one advantage of exploiting natural resources.

...................................................................................................................................... [1]
(b) Explain what is meant by market failure.
...................................................................................................................................... 2]
(c) Explain any two benefits consumers gain from a market economic system.
) USRS
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.............................................................................................................................. (4]
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(d) Draw a Production Possibility Curve diagram and mark:
a point A where there is underutilisation of resources,
a point B where there is an unattainable production level and
a point C where there is full utilisation of resources.

Analyse the differences between the three points.
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(e) Discuss whether it is beneficial for workers to join trade unions.
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2 Borrowing is one of the ways used by firms as a source of finance for growth. Large firms such
as multinational companies use capital-intensive methods of production and earnings for their
employees usually change over time.

(a) State three influences that affect the amount of money borrowed by firms.

() eeoeeeeeee et e et et e et e e e et e e e et e s ee st r e eee e

(b) Explain what is meant by the following terms:

(i) Capital-intensive method of production
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(c) Explain two reasons why workers in the tertiary sector may be paid more than workers
in the primary sector.
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(e) Discuss whether it is beneficial for an industry to grow in size. Justify your answer.
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3 All economies use policies such as the fiscal policy to achieve macroeconomic aims.

These aims include economic growth and price stability. Furthermore, it is the responsibility
of the government to collect tax from individuals and companies and prepare the budget for a

smooth operation of the economy.

(a) State one example of a fiscal policy.

...................................................................................................................................... [1]
(b) Define the following terms:
(i) Budget
(ii) Interest rates
(iii) Gross National Product
.............................................................................................................................. (6]
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(c) Explain why governments impose taxes.
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(e) Discuss whether economic growth is beneficial for a country.
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4  Eswatini, a member of the Southern African Development Community (SADC) is one of the
countries facing the challenge of HIV/AIDS in the world. This has influenced the structure of
the population of the country. The country is involved in international trade and protectionism
is practised.

(a) Identify three effects of an ageing population.

() oeeeeeeeee et e ettt e et e e e ettt e e e e s e s eer e

(b) Explain what is meant by the following terms:
(i) Exchange rates
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(c) Analyse how HIV/AIDS can affect the population of Eswatini.
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(d) Discuss whether countries should use free trade.
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